
Answer on Question #43130 – Math - Statistics and Probability  
 
The probability that it will rain on any given day in the month of June is .02. What is the probability 

that it will rain once in the month of June? 

 

Solution. Let 𝑝 = 0.02 is the probability that it will rain on any given day in the month of June. 

Then the probability that it will not rain on any given day in the month of June is 𝑞 = 1 − 𝑝 =

0.98. There are 30 days in a June. The probability by Bernoulli’s trial that it will rain once in the 

month of June is 

𝑃 = (
30
1
) 𝑝1𝑞30−1 = 30 ⋅ 0.02 ⋅ (0.98)29 ≈ 0.33397. 

 

Answer: 30 ⋅ 0.02 ⋅ (0.98)29 ≈ 0.33397. 
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